=ML 2|2 o] )

1057%X}_02




At A (Dictionary) O £?

e A2 E|AEQ} H|*"'|-I|'='I-
2| AE 0| A= index 440 JH*04O|E =13
« A0 M= B & ’c?qETEI HO|H ™2 indexE AHE 7t
S (user-defined indexes)
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>>> days = { ‘Sun’:’Sunday’, ‘Mon’:"Monday’, ‘Tue’:"Tuesday’,
‘Wed’:"Wednesday’, ‘Thu’:’Thursday’, ‘Fri’:’Friday’, ‘Sat’:’Saturday’}

« JERY] 7| =3t OrO|EH 0| &= [ ArESt= 7|(index)
AR=1=
>>> days[ ‘Sun’ ]
‘Sunday’
>>> days[ ‘Fri’ ]
‘Friday’




# create dictionary

>>> eng2sp = dict()

>>> print(eng2sp)

{

>>> eng2sp['one] = 'uno’
>>> print(eng2sp)

{'one": 'uno'’}

o




operator

len()

k in dictionary_name
Dictionary_namelk]
7|-"

Dictionary_namel[k] = “item 4

Dictionary_name.pop(k)

Description

MY #H0f| M=l Ofo| | 2| 7S &5
=Cf

k 7t SHE AP 0| =XHSHH True, =X SHA
U O M False

LS — —

(7t Bl A0 ZX)SEH, S Ofo| & 3t
S ssir}

k7f3H':*AP‘*3401I SR 2 H
Ol & index, 20| 7% T EICt

k 7t ol & AFEH0f| X SHH, A K| SHEL



AFEE 4, 742t ofo| & 2ol

b )

» Z71E0 T H|H} I ES MTF2E

/

>>> len(country_code)
6

>>> country_code[30]
u:l_E'ﬁu

>>> country_code[82]

u-@_%n

o

>>> country_code = {1:"0|=", 20:"0| & E", 30:"12|A" 39:"O[EfZ|", 81" =




AFHE ik Xt R =719t AN

K>> 82 in country_code \

True

>>> 60 in country_code
False

>>> country_code[60] = "Z2{| X|O}" # append an item
>>> 60 in country_code
True

>>> country_code.pop(81) # delete an item
ey =K
=

>>> 81 in country_code
False

o /




AP ik Xtg |

@Pﬂ@ ity 242 210{LY7] \

>>> city = {"New York City":8175133, "Los Angeles": 3792621, "Washington":632323,
"Chicago": 2695598, "Toronto":2615060, "Montreal":11854442, "Ottawa":883391,
"Boston":62600}

>>> city["Toronto"]

2615060

>>> city["Boston”]

62600

# AT food OFO|EH 7517

>>> food = {"ham" : "yes", "egg" : "yes", "spam" : "no" }
>>> food

{'egg": 'yes', 'ham': 'yes', 'spam'. 'no'}

>>> food["spam”] = "yes”

>>> food

{'egg": 'yes', 'ham'": 'yes', 'spam': 'yes'}

\_ /




. OO|EllO| 2= AFM A birthdateS d 2| otC}
« AFEXI0f|A| O| S0t MUS Q= BHOfA] AN H
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mrthdate ={} \

def add_birth(num):
for i in range(num):
input_name = input("0|&: ")
input_birth = int(input(" & &: ")
birthdate[input_name] = input_birth

add_birth(5)
print(birthdate)

name=input"A QS B A2 AFEtO| 0|22 YBBIAK: ")

. . e
print(birthdate[name]) ======== RESTART: E:/1_Works/2017Work/KMooCZf2| /Exercise Code/93R_H & py -

Ol & kmkim
el 0224
Ol & sjkang
ATl 0512
0| £ kdhong
el 1212
Ol & vchoi
el 0409
Ol & hikim
aHal: 1103
{'kmkim': 224, 'sjkang'' 512, 'kdhong': 1212, ‘'ychoi': 409, 'hjkim': 1103}
Molg st Ale Atgel olg2 ddstMa: knkin

()
(%]
=1



=X 10| A A4St dictionary AF-2 SHC}
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birthdate = { }
def add_birth(num):
for i in range(num):
input_name = input("0| &:
input_birth = int(input("’4 *”O' "))

birthdate[input_name] = input_birth

add_birth(5)
print(birthdate)

name=input("d Y= AHSt D o2 At

birthdate.pop(name)
print(name in birthdate)

print(birthdate)
dog ARGt A2 AlEe
False

{'sikang': %12, 'kdhong'

e

Clll

Pl &
409,

Hmh|m

‘hikim'

103}



Method
d.items
d.get(k)
d.keys(k)
d.pop(k)
d.values(k)
d.update(d2)

dict(listhname)

Description

MEH dS index-tf A2 FEZ A JE 2[2EE H Y

A dOf| M indexit S M 2|0t 252 & O0FA E{ =L}

MEY do| & MY E &0, A d22| | &0| =7teltt

=1
o
D
>.<
>'-|-
0%k
1>
1o
3m
MU[H
Hu
-1
0x
r
r

| A~ E E dictionary 2 H2oHC}



Dictionary Methods, items

e itemst= HAE
e index-2f YA EEE A HE [ AEE MM

4 >>> d = {'a"0, 'b"1, 'c":2} #create dictionary
>>> t = d.items()
>>> 1
[(‘a’, 0), ('c', 2), (b, 1)] # create a list contains
tuples




Dictionary Methods, get(k), keys()

.get(k) keys()

-

>>> sp={'one"'uno, 'two"'dos’, 'three".'tres'}
>>> sp.get('two’)

'dos’

>>> sp['one']

‘uno’

>>> sp.keys()

dict_keys(['one’, 'two, 'three'])

o
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